BRMAZ / Components | X®&S : TY-34)2008.02.08

No. % / Part name W& / Pcs | ##E / Material - ZmmL3HE / Color- Finish
1 |7y 7&K / Hook L ABS UL9LHB JL—-v®& / Gray
2 M3EA vy —F+Fv b / M3 insert nut L Ebw > / Brass |#EME / Unfinished
3 HWffCAMIXEETyYy vy —Hi1AA) L gk / Steel =ffiza— x4+ / Trivalent chromate
Screw M3-8(with washer)
25
09 20 5
o :
FRE TTyve—BAAACA M3X8 P=
Included screws : M3-8 with washer \/&%’
R IANS 7N 27
(ERFTRSARE t1.0~13.0) o o
Mounting hole dimension MERD Ay + @18 A-A 16.7 &
(Requires a panel thickness of between 1.0 ~ 3.0mm.) ¢ 1.8 &
i
@2 L
— d/ ‘ i e 7 7 0 CO
O == ) o AT
®3.2 ﬁ/? | N N
M34 YT = by b A
M3 insert nut
N _ 2% /Title —
HARM S HTFEMTE J- KTy s O L
TAKACHI ELECTRONICS ENCLOSURE Co., LTD. CABLE HOOK
%R /Approved | R /Checked | BE /Created |2 /Product number EE/S“‘[:M
CBF-1G -
iR #tH iR 171
fEE /Date  2022/04/12




